
1 1/4” Extension
Installation Instructions  v.5.2

If you have any questions or concerns with your order, call or text us at 608-607-2788 

 Send an email to info@lamalco.com


 

Before leaving a negative review, contact us, we promise to make things right with you. 


*Help us grow by spreading the word and taking the time to leave a positive review.*

Warnings: 

          • Keep all nuts tightened	 • Do Not exceed 15 MPH, or 150 lbs.

          • Do Not carry passengers	 • Do Not use on public roads


Turn off vehicle and put in park before attaching your Garbage Hook.


**Garbage Hooks are designed for towing,  

 DO NOT backup with cans attached. Damage may accrue**

Thank you for your order, as a small company we truly appreciate your business!

We suggest height between 
14”- 21” allowing for 

approximately 30% of the 
cans weight to be resting on 

the support arm

A

B

5/8 x 3” Bolt with lock washer and nut use to attach the 
2” receiver base of your Garbage Hook securely to the 
new extension

Step 1 Attach the (A) receiver mount base to the (B) receiver extension

TOP VIEW: Use the 2) 1/4” x 3/4” bolts and insert them

thru both holes with the receiver mount base

BOTTOM VIEW: Use the 2) lock washer and nuts

to secure the components together tightly.

Note:  This will only work with Garbage Commander products FASTENERS

A Receiver Mount Base


B 1.25” Receiver Extension 


C 2) 1/4” x 3/4” bolts, lock washer, nuts


D 1) 5/8” x 3” bolt, lock washer and nut D C

B

A

B

Garbage Hooks by:

LaMalco LLC – 2709 N. Burdick Rd. Janesville, WI. 

53548

Garbage Hooks are patented and made in the USA.


A

B

C

8” extension setting4” extension setting

C

mailto:info@lamalco.com

